Comparison Test 002

Questions

1. Ihave records as he has.

A.  four times as

B.  four times many

C.  four times as many

D. four times many as

2. Learning to play tennis well is not

A. aseasyso
B. soeasyas
C. aseasilyas
D. more easy as
3. Achild in the first grade tends to be
class.
A. thesame old to
B. the same age than

C. as old like

D. the same age as
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it seems when you are a spectator.

all of the other children in his
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4. Perhaps thirty million Indians were living in America when the
Europeans arrived.
A. that many
B. very many
C. asmany as

D.  many more

5. Itis not the words that matter the way you say them.

A.  too much as
B. asfaras

C. notas much as
D. somuchas

6. Of gold and silver,

A.  the former is much more precious than the latter.
B.  the former is precious than the latter.

C.  the former is the more precious.

D. the former is more precious than any other thing.

7. "ldon't like to ride in a car." "I think most people prefer riding

A. towalking

B.  than walking
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C.  more than walking

D.  better than walking

8.  Catherine is as miserable as miserable be.
A. can
B. may
C. will
D. must

9. Ilike black coffee so much because the stronger it is,
A. |like it better

B. the more | like

C. the better | like it

D. | like it more

10. The more Jonathan tried to help her, she seemed to appreciate it.

A.  the lesser

B. less
C. lesser
D. theless
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